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“HonesM best policy.”
Aesop (~ 620B. ?

“An honest mind possesses a kingdom.”
Lucius Annaeus Seneca (4B.C.—65A.D.)

“Honest people are the true winners of the universe,”
Anonymous




(1)(25 points) Find the Fourier transform of the signal shown below,
(Please present your work step by step and simplify your expressions

whenever possible.)
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(2)(25 points). Find the Fourier transform (FT) of the signal given by
0 :;%((” +3) cos(20)u(t —1))

Please provide all your steps!
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, 2
(3) (25 points) Find the inverse Fourier transform of X ()= 4ysin’(30)
@
and sketch x(r) as a function of time. Provide all the pertinent values on

your sketch! We are & wel|- known

() \ Fowfer pair ¥
2.

b

s Gw)= 459 (3w)

|
-3 2

Using. !ane_a,r%b o —Hme,-s.\/ﬁg‘\: Fro]:-er'ﬁ'e/; o_p
Pousier ‘\’Tans-Por-m
(++3) <—-?—--———C—>e(.w)e—

2, 2w l(t) = _%__%(-I:-t-g) '"‘-4-:-3_(.4’:"3)
= ulk+6) ~ o) —u(E) Fult- &)
fulkre) —zul) + ulE- ~b)
(0 o ol of 96 shifled
"l‘I‘D'\'\ne,hna-%\‘i‘-Eu 3)QM_ -}-umﬂ

upsicle ddwnY

Ny

>t




(4) (25 points) Find the Fourier transform of the signal given by

()= [4sin(3m)}[53in(6f)i'
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